[

IIprmep:
—4x+7=x
—4x —x=-7
—5x =-7
_ -7
=5
x=14
OtBeT: 1,4

Jaganue 9. /lHHeHHbIe YDaBHEHHA

JakpenigeM

1)5x — 16 = —3x

OtBeT:

2)=7x—16 = =3x

OrBeT:

3) —15x + 25 = 5x

4)—10x — 6 = —4x

OtBeT:

6)4x — 18 = —8x

OtBeT:

Jluct 1

OtBeT:
5)7x + 18 = 2x
OtBeT:
7)8x + 20 = 3x
OtBeT:




[

IIprmep:
—4x+8=2x—-7
—4x —-2x=-8-7

—6x = —15
B -15
=%
x=25

OtBeT: 2,5

Jaganue 9. /lHHeHHbIe YDaBHEHHA

JakpenigeM

1)9x+5=5x—-7

OtBeT:

2)6x —8=2x+9

OrtserT:

3)—4+8x=2x+8

OtBeT:

4)10 + 6x = —4x — 15

OtBeT:

5)7x+11=2x -7

OtBeT:

6) —4—10x = —8x — 9

OTserT:

Jluct 2

7)—x+10= -4 —3x

OTserT:




Jluct 3

Jaganue 9. /lHHeHHbIe YDaBHEHHA

[

JakpenigeM

llpumep: 1) —-2(x—-5)=-7
—4(x+8)=-7
—4x —-32=-7
—4x = 25
_ 25
Sl—
x = —6,25
OtBeT: -6,25 OtserT:
2)10(x—2) =11 3)-8(x+1)=-5
Otger: OTBeT:
4)12(x+2) =36 5 -3(x—4)=-9
OtBeT: OtBeT:
6)5(x—3)=-6 7)—=2(x+4)=-7
OtBeT: OtBeT:




Jaganue 9. /lHHeHHbIe YDaBHEHHA

JakpenigeM

Jluct 4

IIprmep: 3
X
—-=——=|X%8
x+ 2 8|
8x + 2x =-3
10x =3
_ 3
=70
x=0,3
OtBeT: 0,3
2 +x = 5
o =1
OtBeT:
4 X 9
=3 = 73
OtBeT:
p X 7
T

OtserT:

1 X 3
x=3=73
OtBeT:
3 X 7
*-g=73
OtBeT:
Sy + X 27
T
OtBeT:
7 X 9
=167y
OtBeT:




Jluct 5

Jaganue 9. /lHHeHHbIe YDaBHEHHA

[

JakpenigeM

11 X
1ipHMep. 11 B 11 1 151 _ _g
x+4 4 &=
11(x+4)=-4x11
11x + 44 = —44
11x = —88
x = —88:11
x =-8
OtBerT: -8 Otger:
12 8
Dva~ s H—o= oo
X x—2 2
Otser: Ortser:
4 5 _ 2 s 16 _ 4
)x—5_5 )x+2_5
OtBeT: OtBeT:
P 10 _ 10 7 7 _ 25
)x+4_3 )x—l_ 4
OtBeT: OtBeT:




Jaganue 9. /lHHeHHbIe YDaBHEHHA

JakpenigeM

=-=-2
x—4 -1
2(x—4)=-1x7
2x —8=-7
2x =1
x=05
OtseT: 0,5
2 1 =-5
)x+4
OtBeT:
4 S =-1
)x—5
OTBeT:
6 10 =-10
)x+4_

OtBeT:

Jluct 6

1 15 = —4
)x—l_
OtBerT:
2 10 _
)x—2_
OtBeT:
5 16 = -2
)x+2_
OtBeT:
7 ? =2
)x—l_
OtBeT:




IlIpumep:

(x — 5)2= (x + 2)?

(x=5)x=-5=w+2)(x+2)
X2 —-10x+25=x%+4x+4

—14x = -21
=21
)
x=15

OteeT: 1,5

Jaganue 9. /lHHeHHbIe YDaBHEHHA

JakpenigeM

D(x - 1)%= (x - 3)?

OtBerT:

2)(x + 4)%= (x + 2)?

OrtserT:

3)(x — 2)2= (x + 5)?

OtBeT:

4)(x —3)%= (x + 6)2

OtBeT:

5)(x — 2)%= (x + 2)?

OtBeT:

6)(x + 1)%= (x + 2)?

OTserT:

Jluct 7

7)(x — 8)%= (x — 2)?

OTserT:




Jluct 8

3azanue 9. KBagpaTHble

| |EI Ipumep: aBHEHU{

Pemuth ypaBHeHue. B oTBeTe
yKa3aTb MEHbIIWH KOpeHb
x—-2)(-3x+9)=0
X—2=0um —3x+9=0
X=2 um—-3x=-9
x=3

OTBeT: 2

3akpenJisieM

D(—x—-2)(—4x+5) =0

OtBerT:

2)x+1)(-2x—-9) =0

OrtserT:

3)(—x+4)(-=7x—14) =0

OtBeT:

4)(—x—-1)(-5x—-9) =0

OtBeT:

5 +3)(—2x—-7)=0

OtBeT:

6)(x —6)(=3x—12) = 0

OTserT:

N(x—4)(—8x+25)=0

OTserT:




I |5| [Ipumep:

Pemuth ypaBHeHue. B oTBeTe
yKa3aTb O0JIbLINIH KOPEeHb
x—-2)(-3x+9)=0
X—2=0um —3x+9=0
X=2 um—-3x=-9
x=3
OTtseT: 3

3azanue 9. KBagpaTHble
ypaBHEHUd

3akpenJisieM

D(Ex—-2)(—4x—-5)=0

2)(—2x+ 1)(—2x+9) =0

OrtserT:

3)(—x+ 8)(7x — 14) = 0

OtBeT:

4)(—2x—1)(-5x—8) =0

OtBeT:

5x—-3)(-2x+7)=0

OtBeT:

6)(x+6)(—3x+15) =0

Jluct 9

OtserT:

7)(0,5x —4)(—8x+24) =0

OTserT:




[T=] Zpumep:

Pemuthk ypaBHeHue. B oTBeTe
yKasaTb 00JIbIINH KOpEHb

3x% = 27x
3x2 -27x =0
x(3x—=27)=0

x=0uwm3dx—-27=0

x =0unu 3x = 27
27

Jaganue 9. Kpasparueie
VDaBHEHHS

Jluct 10

3
x=9
OtBeT: 9
2)8x% = 16x
OrBeT:
4)4x? = 18x
OtBeT:
6)—2x%= 22x

OTserT:

JakpenigeM
1)4x? —20x =0
OtBerT:
3)2x2 +21x =0
OtBeT:
5)x? =x
OtBeT:
7)6x% +24x =0
OtBeT:




=] Ilpumep:

PemnTte ypaBHeHuUe. B oTBeTe
yKa3aTb MEHbIIWH KOpeHb
x2—=4=0
x-2)x+2)=0
Xx—2=0nmx+2=0
X=2WIMX = —2

OTBeT: -2

2)x2 = 16

OTBeT:

4)x? = 144

OTBeT:

6)x2 — 100 = 0

OTBerT:

3azanue 9. KBagpaTHble

Jucr 11

VPDABHEHUA
3akpenJigeM
1)x2 —-25=0
OTBeT:
Nx2-1=0
OTBeT:
5)x? = 81
OTBeT:
7)x2 —49 =0

OTBerT:




IlIpumep:

Pemiuts ypaBHeHuUe. B oTBeTe
yKa3aTb MEHbUIWH KOPEHb
x?=4x-3
x2=4x+3=0
D=(-4)?-4x%x1x3
=16—-12=4=22

Jaganue 9. KpasparHeie
VDaBHEHHS

JakpenigeM

Jucr 12

_—b+\/5_4+2_3

Dx?=5x—-6

OtBeT:

1= "0 2
—b—D 4-2
Xy = = = 1
2a 2
OTBeT: 1
2)x% =10x — 16
OtBeT:

3)x? + 4x — 12=0

4)x* —17x+16 =0

OtBeT:

6)x? = 3x+ 10

OtBerT:

OtBeT:
5)2x2—x—-3=0

OtBeT:
Nx? =7x—10

OtBeT:




=] Ilpumep:

Pemuth ypaBHeHue. B oTBeTe
yKa3aTb 00JIbLIMI KOpeHb
5x2 =8x—3
5x2—-8x+3=0
a=2>5, b = -8, c=3

a+b+c=0,
TOX; = 1,
c 3
X2 ;=§=0,6

OTtBeT: 1

2)8x% =11x -3

OTBerT:

4)3x% = —9x + 12

OTBeT:

6)4x? = 2x+2

OTBeT:

3azanue 9. KBagpaTHbie

Jlucr 13

VYPDAaBHEHUA
3akpenJigeM
D2x?2=x+1
OTBerT:
3)x2 — 7x+6=0
OTBeT:
5)16x2 =10x+6
OTBerT:

7)10x% = 11x—1

OTBeT:




=] Ilpumep:

Pemuth ypaBHeHue. B oTBeTe
yKa3aTb 00JIbLIMI KOpeHb

—4x%2 =7x+3
—4x2 -7x—=3=0
a=—4, b=-7, c=-3
at+c=b,
TOX; = —1,
S _3_ o7
X2 = a -4
OtBeT: — 1

2)8x% = 7x+ 15

OTBerT:

4)2x% =9x + 11

OTBeT:

6)4x* = 9x+13

OTBeT:

3azanue 9. KBagpaTHbie

Jucr 14

VYPDAaBHEHUA
3akpenJigeM
1D2x?=—x+1
OTBerT:
3)x? + 9x+8=0
OTBeT:
5)16)(2 = 10x + 26
OTBerT:
7)5x% = 4x+ 9
OTBeT:




3azanue 9. KBagpaTHbie

ypaBHEHUd Jlucr 15
=] Ilpumep:
Pemuth ypaBHeHue. B oTBeTe 3akpenJigeM
yKa3aTb 00JIbLIMI KOpeHb
2 -
R =7x—6 1)x% = —4x -3
Xx“=7x+6=0
a=1, b=-7, c=6
X1 + Xy = —b _ _
{X1XX2=C’X1_1’X2_6
OTBeT: 6
OTBerT:
3)x2 + 10x+21=0
2)x2 =5x+6
OTBerT: OTBerT:
4)x? =8x— 15 5x?—6x+8=0
OTBeT: OTBeT:
6)x2+x—-12=10 7)x? —x — 6=0
OTBeT: OTBeT:




OTBeThI

Nucr 1 JNncr 2
1 2 3 4 5 6 7 1 2 3 4 5 6 7
2 -4 1,25 -1 -3,6 1,5 -4 -3 -4,25 2 -2,5 -3,6 2,5 -7
Nnct 3 Nlncr 4
1 2 |3 4 5 6 7 L 2 |9 = 2 g U
-2 0,3 -2 -6 -1,8 -1,5 -2,4
8,5 3,1 -0,375 1 7 1,8 -0,5
125
Nucr 5 JNncr 6
1 2 3 4 5 6 7 1 2 3 4 5 6 7
-5 - 0 17,5 18 -1 - - - 3,25 0 -10 -5 45
11, 0,12 2,75 6,4
5
Nucr 7 Nuct 8
1 2 3 4 5 6 7 1 2 3 4 5 6 7
2 -3 '115 '115 0 '115 5 -2 - '3,5 '1,8 '3,5 -4 3,12
4.5 5
Nunct 9 Nuct 10
1 2 3 4 5 6 7 1 2 3 4 5 6 7
2 4,5 8 -0,5 3,5 5 8 5 2 0 4,5 1 0 0
JNncr 11 Nucr 12
1 2 3 4 5 6 7 1 2 3 4 5 6 7
-5 -4 -1 -12 -9 -10 -7 2 2 -6 1 -1 -2 2
Jlner 13 Jlnct 14
1 2 3 4 5 6 7 1 2 3 4 5 6 7
1 1 6 1 1 1 1 0,5 1,8 | -1 5,5 1,625 | 3,25 1,8
75




OTBeThI

Jncr 15
1 3 4 5 6
-1 -3 5 4 3
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